St James' Anglican School



YEAR TEN 2025

ALL ORDERS TO BE COMPLETED ONLINE at www.campion.com.au using "MB6D" as your code

by Friday 6th December 2024

PREPACKAGED COLLECTION SERVICE

ALL SCHOOL COLLECTION ORDERS MUST BE PRE-PAID ONLINE.

If choosing SCHOOL COLLECTION, orders must be placed online on or before the return date of Friday 6th December 2024. These orders will be made available from St James Anglican School, ALKIMOS, see details on right;

DAYS: Thursday, 9 January 2025 TIMES: 9:00am-11:00am PLACE: St James Anglican School,

If choosing HOME DELIVERY, your order will be delivered by 28th January 2025 for \$8.00, if placed on or before the return date of Friday 6th December 2024. Orders placed after the return date will incur a late fee of up to \$17.50.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.



Your Retail Service Centre 751 MARSHALL ROAD MALAGA WA 6090 Contact Us 08 6240 2778 help@campion.com.au

Please tick the items required in the box provided

M Item Unit Item Qty Total Office Use Description No. Reqd Reqd Price \$ Amount \$ YEAR TEN Digital texts: Digital texts are valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged for change your mind. **ART** P56182 0.90 Pencil (2B) Tradition 4 3.60 P56194 Pencil (4B) Tradition 2 4 0.90 3.60 P56141 Pen Felt Tip Triplus Fineliner Black 3 2 2.35 4.70 P56016 4 4.95 Pen Uniball UM153 Signo Broad White 1 4.95 P50804 Visual Art Diary A3 110gsm 120 Page Marine Blue 5 15.95 15.95 P55153 Binder Book A4 128 Page 8mm 2.15 2.15 6 1 **CHILDREN, FAMILY & THE COMMUNITY** P50373 Display Book A4 20 Pocket Cool Frost Orange Refillable 7 1 2.20 2.20 P50450 Exercise Book A4 64 Page 8mm with Margin Spirax #106 8 1 1.30 1.30 DANCE P55153 9 Binder Book A4 128 Page 8mm 2.15 2.15 DESIGN & TECHNOLOGY (WOODWORK) P50373 Display Book A4 20 Pocket Cool Frost Orange Refillable 10 2.20 2.20 1 P55467 Document Wallet A3 PP Envelope With Stud 11 3.70 3.70 1 DIGITAL TECHNOLOGY P55442 Display Book A4 20 Pocket Black Refillable 12 2 15 1 2.15 DRAMA P51836 Visual Art Diary A4 110gsm 60 Sheet/120 Page Red Cover 13 10.30 10.30 METAL ENGINEERING P50373 Display Book A4 20 Pocket Cool Frost Orange Refillable 2.20 2.20 14 1 P55467 Document Wallet A3 PP Envelope With Stud 15 1 3.70 3.70 **ENGLISH PRE - ATAR** P16359 Between Us [Clare Atkins] 16 1 24.99 24.99 P00511 Insight Shakespeare Plays: Macbeth (Print & Digital) 2E [Aidan Coleman & 30.95 30.95 17 Shane Barnes] P51279 Display Book A4 20 Pocket Hot Pink Refillable 18 2 2.15 4.30 P50328 Exercise Book A4 128 Page 8mm with Margin Spirax #110 19 2 2.15 4.30 P51080 Exercise Book A5 64 Page 8mm 20 1 2.15 2.15 **ENGLISH PRE - GENERAL** P16359 Between Us [Clare Atkins] 21 1 24.99 24.99 P35895 Through the Woods (Graphic Novel) [Emily Carroll] 22 1 27.99 27.99 P51279 Display Book A4 20 Pocket Hot Pink Refillable 23 2 2.15 4.30 P50328 Exercise Book A4 128 Page 8mm with Margin Spirax #110 24 2 2.15 4.30 P51080 Exercise Book A5 64 Page 8mm 25 2 15 2.15 **FILM STUDIES** P52086 USB Pocket Flash Drive 32GB - NO RETURNS 26 14.05 14.05

Please tick the items required in the box provided \downarrow

| | | No. | Reqd | Reqd | Price \$ | Amount \$ |
|---------|---|----------|-------------------|----------|-------------|-----------|
| | FOOD TECHNOLOGY | | | | | |
| | Please supply a take away food container with a clearly labelled name at | the be | ginning of the ye | ar as it | is compu | Isory for |
| P50372 | this subject. Dieplay Peak A4 20 Peaket Coal Front Crean Refillable | 27 | | 4 | 2.20 | 2.20 |
| P50450 | Display Book A4 20 Pocket Cool Frost Green Refillable Exercise Book A4 64 Page 8mm with Margin Spirax #106 | 27 28 | | 1 1 | 1.30 | 1.30 |
| 1 00400 | Exercise Book A4 04 Fage offill with Margin Spirax #100 | 20 | Ш | | 1.50 | 1.50 |
| | FORENSIC SCIENCE | | | | | |
| P55949 | Notebook A4 120 Page Colourhide With 4 Pockets | 29 | \sqcup | 1 | 6.95 | 6.95 |
| | GAME DESIGN AND MARKETING | | | | | |
| P55442 | Display Book A4 20 Pocket Black Refillable | 30 | | 1 | 2.15 | 2.15 |
| | GRAPHICS AND MERCH DESIGN | | | | | |
| P50374 | Display Book A4 20 Pocket Cool Frost Purple Refillable | 31 | 1.1 | 1 | 2.20 | 2.20 |
| | | | _ | | | |
| | HASS | | | | | |
| P11072 | Oxford Big Ideas WA Humanities & Soc Sci 10 (Print&Digital) [Saldais] | 32 | _ | 1 | 72.95 | 72.95 |
| P50374 | Display Book A4 20 Pocket Cool Frost Purple Refillable | 33 | Ц | 2 | 2.20 | 4.40 |
| P55949 | Notebook A4 120 Page Colourhide With 4 Pockets | 34 | | 1 | 6.95 | 6.95 |
| | HEALTH / OUTDOOR EDUCATION | | | | | |
| P55153 | Binder Book A4 128 Page 8mm | 35 | 1.1 | 1 | 2.15 | 2.15 |
| P55105 | Binder A4 2D Ring 25mm PP Insert White | 36 | | 1 | 6.20 | 6.20 |
| | IADANECE | | | | | |
| | JAPANESE The Japanese on-line textbook will be purchased by the School and adde | d onto | the annual fee s | tateme | nt at a co | st of |
| | approximately \$45.00 | u onto | the annual ree s | laterne | iii at a co | 31 01 |
| P00210 | Oxford Beginners Japanese Dictionary (Jap-Eng-Jap) [Oxford] | 37 | | 1 | 30.95 | 30.95 |
| | (Retain from previous year. Only new students to purchase) | | | | | |
| P55153 | Binder Book A4 128 Page 8mm | 38 | \sqcup | 1 | 2.15 | 2.15 |
| P50371 | Display Book A4 20 Pocket Cool Frost Blue Refillable | 39 | | 1 | 2.20 | 2.20 |
| | MARINE STUDIES | | | | | |
| | Students will be required to purchase a comfortable and well-fitting snor components of this course. | kel, ma | sk and fins/flipp | ers for | the practi | cal |
| P55105 | Binder A4 2D Ring 25mm PP Insert White | 40 | \Box | 1 | 6.20 | 6.20 |
| P55153 | Binder Book A4 128 Page 8mm | 41 | | 1 | 2.15 | 2.15 |
| | MATHEMATICS CORE/ADVANCED | | | | | |
| | | | | | | |
| | Cambridge AC Essential Maths Yr 10/10A 3E | | <u>Choose One</u> | | | |
| P08299 | Cambridge AC Essential Maths Yr 10/10A (Print & Digital) 3E [Greenwood et al] OR | 42 | | 1 | 72.95 | 72.95 |
| E20194 | Cambridge AC Essential Maths Yr 10/10A (Dig Reactivation) 3E | 43 | DIGITAL ITEM | 1 | 29.95 | 29.95 |
| | Second Hand Textbook Required. | | | | | |
| P55272 | Calculator Casio Graphic CAS Class Pad FX-CP400 | 44 | | 1 | 281.95 | 281.95 |
| | This is ONLY to be purchased for students who are in the Year 10 Mather upper school ATAR Mathematics Courses and is required in the Year 10 years. | | | | | |
| P52000 | Calculator Casio Scientific FX-82AU Plus II 2E | 45 | Ц | 1 | 41.95 | 41.95 |
| | (Retain from previous year. Only new students to purchase) | | | | | |
| P50328 | Exercise Book A4 128 Page 8mm with Margin Spirax #110 | 46 | \Box | 2 | 2.15 | 4.30 |
| P55469 | Display Book A4 20 Pocket Blue Non-Refillable | 47 | \sqcup | 1 | 4.95 | 4.95 |
| | Students may select any type/colour of A4 Display Book. | | | | | |

Page 3

Please tick the items required in the box provided

V Item

Item

Unit

Total

Qty Office Use Description No. Reqd Reqd Price \$ Amount \$ **MATHEMATICS STRUCTURED** Cambridge AC Essential Maths CORE Yr10 Choose One P18853 Cambridge AC Essential Maths CORE Yr10 (Print & Digital) [Greenwood et al] 48 1 72.95 72.95 E20518 Cambridge AC Essential Maths CORE Yr10 (Digital Access Code) 49 **DIGITAL ITEM** 59.95 59.95 P52000 Calculator Casio Scientific FX-82AU Plus II 2E 50 1 41.95 41.95 New students only. Existing students to retain from previous years. P50328 2 2.15 4.30 Exercise Book A4 128 Page 8mm with Margin Spirax #110 51 P55469 4.95 Display Book A4 20 Pocket Blue Non-Refillable 52 4.95 Students may select any type/colour of A4 Display Book. MONEY, JUSTICE AND MARKETS P55153 Binder Book A4 128 Page 8mm 53 1 2.15 2.15 MUSIC Students are required to bring a working pair of headphones to their music lessons and have a pair of ear plugs for performances. Alpine Musicsafe pro earplugs are recommended. P01999 27.95 Musicianship & Aural Training Level 2 Student Book 2E [Smith] 54 1 27.95 (Retain from previous year. Only new students to purchase) P50263 55 1 13.55 13.55 Music Manuscript Pad 12 Stave Craigscore P50271 Pencil (HB) Goldfaber 56 2 0.65 1.30 PHYSICAL EDUCATION No resources required. **PSYCHOLOGY** P52710 Notebook A4 120 Page Colourhide 57 1 5.70 5.70 **SCIENCE** Pearson Science 10 2E Choose One P10891 73.95 Pearson Science 10 (SB Pack Print&Digital+Lightbook) 2E [Rickard et al] 1 73.95 58 E02427 Pearson Science 10 (EB/LBS Digital Reactivation) 2E 59 DIGITAL ITEM 1 19.95 19.95 Second Hand Textbook Required. P55153 3 Binder Book A4 128 Page 8mm 60 2.15 6.45 P50372 2.20 Display Book A4 20 Pocket Cool Frost Green Refillable 61 2.20 1 P56176 Pencil (2B) Copperplate 62 1 0.55 0.55 P50090 63 Ruler 300mm Wooden 1.10 1.10 (Retain from previous year. Only new students to purchase) **SPORT SCIENCE** P55153 Binder Book A4 128 Page 8mm 2.15 2.15 64 1

Please tick the items required in the box provided \downarrow

| Office Use | Description | ltem No. | ltem Reqd | Qty Reqd | Unit Price \$ | Total Amount \$ |
|------------|---|-------------|--------------|-------------|------------------|--------------------|
| | | | | | | |
| | GENERAL STATIONERY | | | | | |
| P50466 | Correction Tape 5mm x 8m Marbig | 65 | | 2 | 5.10 | 10.20 |
| P58510 | Eraser Plastic Pencil Large With Sleeve | 66 | | 2 | 0.40 | 0.80 |
| P51685 | Glue Stick 40gm Artline Clear | 67 | | 4 | 2.75 | 11.00 |
| P56211 | Handy Pouch Pencil Case 345mm x 140mm | 68 | | 1 | 3.60 | 3.60 |
| P51157 | Highlighters Pkt 4 Micador ECO | 69 | | 1 | 3.60 | 3.60 |
| P50113 | Markers Faber Project Wallet 12 Assorted | 70 | | 1 | 3.60 | 3.60 |
| P56095 | Pen Ballpoint Cap Type Blue Medium | 71 | | 4 | 0.35 | 1.40 |
| P56096 | Pen Ballpoint Cap Type Red Medium | 72 | | 4 | 0.35 | 1.40 |
| P50271 | Pencil (HB) Goldfaber | 73 | | 5 | 0.65 | 3.25 |
| P50108 | Pencils-Coloured 12's Noris Club | 74 | | 1 | 5.20 | 5.20 |
| P50090 | Ruler 300mm Wooden | 75 | | 1 | 1.10 | 1.10 |
| P50161 | Scissors 170mm Maped Plastic Handle | 76 | | 1 | 2.30 | 2.30 |
| P51356 | Sharpener Pencil Wave Double Hole | 77 | | 2 | 2.15 | 4.30 |
| P51366 | Whiteboard Markers Eco Micador Pk 4 | 78 | | 1 | 6.65 | 6.65 |
| | The School will be providing a locker padlock to all students. STUDENTS TO PROVIDE: 1 x Box of Tissues 1 x Hand Sanitiser 1 x Diary (Optional if students wish to use electronic diary) | | _ | | | |

| Number of Boxes ticked: | |
|--------------------------|-------------|
| Postage (Home delivery o | nly) \$8.00 |
| ESTIMATED AMOUNT DU | -n |